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I 7xmwn: parameters of theft and consumption that generate liability for n"yoa
a  Only if he steals of his father’s money and devours it in someone else’s property
i Reason: only his father’s property is available for ongoing theft;
1 And: he’s only “uninhibited” away from home
b /7 972 s0p 77 must steal from both father and mother
i Question: how does mother own anything independently?
1 Answerl (’121 772 201 79): if he steals from a feast prepared for both parents
(a) Challenge; ruling (above) that he must buy both meat and wine at low price
2 Rather (answer1 modified): if he steals from moneys set aside for feast prepared for both parents
3 Answer2: if someone gave his mother money on condition that father has no access to it
II 17 mwn: requirement of both parents’ agreement to bring him to 1”2
a 77w i if mother wasn’t “fit” for father, son cannot be n”™oa
i Meaning oif 77387 7°A. cannot mean illegitimate relationship — they are still his father and mother
ii  Rather: aren’t equal in height, voice and appearance (supporting xn»1)
1 Source: v. 4 describes “our voice”
(a) And: since the nmn requires the same voice, it must also require nxIM NMP
b Observation: opinion that n”o1 is purely theoretical may be authored by nmn’ "1 — who has impossible prerequisites
i Or:w™, who says so explicitly, amazed that we would kill someone for gluttony
ii  In any case: purpose is to study and receive reward
1 Dissent (yn117 79): testified to having sat on the grave of a n"yoa
¢ Parallel observation: nnTan 1y is purely theoretical - must follow r™:
i ~77.if there’s even one nnin in town, cannot be nnmin vy as per vv. 1-2 -
1 Purpose: to study and gain reward
2 Dissent (1212 77): testified to having sat on the ruins of an nnmn vy
d  Parallel observation: yann ma (with nyax) is purely theoretical — must follow w”ary
i v7anT. must have splotch on two rocks, on two walls in the corner, 1 v (bean) long and 2 wide
1  Reason: 1p and mp are used in v. 3 — when is a wall 2 walls? In the corner - etc.
2 Dissent: ¥"ar7 and v™ from 12y 193 reported on sites commemorated as places of myain onaR etc.
III 27 mwn: if one of the parents was an amputee, lame, mute, blind or deaf — son cannot be n”yoa
a  Source: vv. 4-5, which imply grabbing him, bringing him out, speaking, pointing to him and hearing him
i Note; this does not prove that texts are literally-read; but the entire passage is superfluous = nw17
b Procedure: they warn him in front of 3 and then flog him;
i »ax: should be “warn in front of 2, flog in front of 3”
1 Source for mpbp: vv. 6-8, as per IR "
ii  If: he improves his behavior — fine
iii Ifnot: he is judged by 23 — but the original 3 must be there, as per nr 112
1 Challenge: nt 12 was needed to exclude a blind parent
(a) Answer: could have said ®n 113; Nt 1M1 also implies that the original 3 are there as part of the 23
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IV 37 mwn: if he fled from 772 and then reached 7w of 1pr napn — 7v9; if he fled after 77n3 — liable
a  Backdoor: R1in . if a 1”2 cursed God and then converted — he is exempt
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Reason: his procedure (n®nm 0»1y ,n7) and mode of execution (970 >n%pv) have changed
Suggested support: from our nmwn
1 Block: in our case, if he acted this way now (after jpr napn) — he’d be fully exempt
Suggested counterproof: from R20 of our mwn
1 Block: in that case, he was already a “dead man” - after 7"m)
Suggested counter proof: if a 171 kills another 13”2 or commits adultery with a 3"2’s wife — and then converts — 7108
1  But:if he does so to a Y87 (or violates YR7w> my) — still liable
2 Explanation: if we employ the reasoning of »1nwR — »nwR1 817, he should be exempt
3 Defense: we require both procedure and mode of execution to change
(a) Challenge: that defense is valid for murder — in both cases, the death is 40
(i) But:in case of 18y, it goes from 9o to pan
(ii) Defense: 5987w may here is no1RNN MIY1 — for whom, whether 587w or 173, he gets n%’po (as per Ny ")
1. Block: the wording of the xn»Ma is “if he did the same 5%7w1...” implying full wx nwr
(iii) Rather: a “lighter” execution is considered “included” - here he gets pan (lighter)
1. question: this is only valid according to 1127; what of v, for whom pan is more serious?
2. Answer: v"1 holds like n”a7 ®1n —all "2 mrn are pan (as per DRI DTRN DT JaV...)
3. Therefore: R"R is the same (pin) and murder is now “nmna n%p” (Pan=>9»o)
Suggested support: rule that if a nvYIRN N1 was unfaithful but became a nma before coming to 177 — she gets pan
1 Assumption: the reason for no longer getting n%po is ANWR NNWIRY DRI
(a) And:y"p in RN Y's ruling, where he totally “changed” via 913?
(b) Rejection; in that X113, 130y 1 instructed his Xin to modify the reading to "n%>po”
(i) Note: this doesn’t act as a counter to Xyin 3, as per the 1"p above

V ’n mwn:justification for execution of the n”yoa
a  Anticipatory punishment: better he should die innocent, rather than guilty
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Explanation (277777 - 8177773): the NN anticipates that he will devour his father’s estate; when he can’t find more
money there to support his habits, he will go out to the roads and rob from others —

1 So: the nmin dictated 2n min SRy RO M

Comment: the death of nyw1 (before they can sin more) is a benefit to them — and to the world

1  But: the death of n’pr1¥ is bad for them and bad for the world

Parallel: sleep and drunkenness of 0’y is a benefit for them and the world; opposite for p> 72

And: dispersion of w1 is a benefit for them and the world; opposite for mpr7x

But: gathering of n’yw1 is bad for them and for the world; the opposite for np»7x

And: peace and quite for wyw1 is bad for them and for the world; the opposite for mp»1x
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